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SET LANGUAGE

Thinking Corner

1. Are the sets {0} and {¢} empty sets?

° Watch Video Solution

2.1s the set of natural numbers a finite set?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1YOuvA1LtgZq
https://dl.doubtnut.com/l/_wBPYob6N3woX

3. Let A={x : x is a colour in national flag of India} and B={Red, Blue, Green}.

Are these sets equivalent?

o Watch Video Solution

4. Are the sets ¢, {0} and {¢} equal or equivalent?

o Watch Video Solution

5.1s W subset of N or Z?

o Watch Video Solution

6.Whatis (A — B) N (B — A)?

o Watch Video Solution



https://dl.doubtnut.com/l/_fZq6GvZlMBCJ
https://dl.doubtnut.com/l/_XqTviH3iKiN5
https://dl.doubtnut.com/l/_KbFDVSodOoQH
https://dl.doubtnut.com/l/_kVaESsbDxHwP

72(A—-B)U(A-C)U(ANB) =....... .

o Watch Video Solution

8.Check whether A — B = AN B’

o Watch Video Solution

9.(A—B)U(B—A) = e .

o Watch Video Solution

10.AN(AUB) = .............

o Watch Video Solution

N(AUB)’U(A"'NB) =......


https://dl.doubtnut.com/l/_dQK8Kd6l4jdp
https://dl.doubtnut.com/l/_9BTfmLLfxCeK
https://dl.doubtnut.com/l/_yt4bBuKsFpmF
https://dl.doubtnut.com/l/_3ASWKuwaZ0kQ
https://dl.doubtnut.com/l/_dZXq059YRLAs

° Watch Video Solution

1. Which of the following are sets?

The Collection of rich people in India.

A. The collection of prime numbers upto 100

B. The collection of rich people in India

C. The collection of all rivers in India

D. The collection of good hockey players

Answer:

o Watch Video Solution

2. Consider the following sets A = {0, 3, 5, 8} B = {2, 4, 6, 10} C = {12, 14, 18,

20}


https://dl.doubtnut.com/l/_dZXq059YRLAs
https://dl.doubtnut.com/l/_zV4diqAAKMzj
https://dl.doubtnut.com/l/_g8lBsC8pxJm4

(a) State whether True or false.
()18 C

(i) 6 ¢ A

(iii) 14 ¢ C

(iv)10 € B

(vybe€ B

(vij0 € B

(b) Fill in the blanks?

o Watch Video Solution

3. Represent the following sets in Roaster form.

(i) A=The set of all even natural numbers less than 20.

1
(i) B = {y:y:—,nEN,n§5}
2n


https://dl.doubtnut.com/l/_g8lBsC8pxJm4
https://dl.doubtnut.com/l/_QkehzbBZRZ14

(iii) C = { x:xisaperfect cube, 27 < z < 216}

(ivyD:{z:z € Z, -5 <z <2}

° Watch Video Solution

4. Represent the following sets in set builder form.
B = The set of all Cricket players in India who scored double centuries in

One Day Internationals.

° Watch Video Solution

5. Represent of the following sets in descriptive form.
(i) P={January, June, July} (ii) Q={7,11,13,17,19,23,29}
(i) R={x:x € N,x <5} (iv) S={x :x is a consonant in English

alphabet}

° Watch Video Solution



https://dl.doubtnut.com/l/_QkehzbBZRZ14
https://dl.doubtnut.com/l/_muQwxavTBVCP
https://dl.doubtnut.com/l/_InUCQbV2kyIm

1. Find the cardinal number of the following sets
(i) M={p,q.r,s,t,u}

(i)P={z:z2 =3n+2,n €W and z < 15}

(iii)Q:{y:y:?:in,nENand2<n§5}

(ivyR = {x:xisaninteger, ¢ € Z and — 5 < z < 5}

(v) S=The set of all leap years between 1882 and 1906.

° Watch Video Solution

2. Identify the following sets as finite or infinite.

(i) X=The set of all districts in Tamilnadu.

(i) Y=The set of all straight lines passing through a point.
(i) A ={z:z € Z and = < 5}

(ivyB={z:2> — 5z +6 =0,z € N}

° Watch Video Solution



https://dl.doubtnut.com/l/_LUTItYzssb7V
https://dl.doubtnut.com/l/_lp59lfgVn9RJ

3. Which of the following sets are equivalent or unequal or equal sets?
(i) A=The set of vowels in the Englisht alphabets.

B=The set of all letters in the word "VOWEL".

(i) C={2,3,4,5}

D={z:x ecW,1<z <5}

(iii) X = { x:xis aletter in the word LIFE}

Y={F,I,LE}

(iv) G = {x:xis aprime number and 3 < z < 23}

H={x : x is a divisor of 18}

o Watch Video Solution

4. Identify the following sets as null set or singleton set.

A ={z:ze N,1<z<2}

(ii) B=The set of all even natural numbers which are not divisible by 2
(iii) C={0}.

(ic) D=The set of all triangles having four sides.

o Watch Video Solution



https://dl.doubtnut.com/l/_TtJskMzCL6vE
https://dl.doubtnut.com/l/_oeVGgj9feOWw

5. State which pairs of sets are disjoint or overlapping?

A={f,1i,a,s}and B ={anfh,;s}

° Watch Video Solution

6. If S = {square, rectangle, circle, rhombus, triangle}, list the elements of
the following subset of S.

The set of shapes which have radius.

° Watch Video Solution

7.1f A={a, {a,b}}, write all the subsets fo A.

° Watch Video Solution



https://dl.doubtnut.com/l/_oeVGgj9feOWw
https://dl.doubtnut.com/l/_gcxCjru6nbEu
https://dl.doubtnut.com/l/_fDKJQ2R2JXbJ
https://dl.doubtnut.com/l/_B12ztBGfuYn2

8. Write down the power set of the following sets.

A={ab}

° Watch Video Solution

9. Find the number of subsets and the number of proper subsets of the
following sets
(i) W={red, blue, yellow}

(i) X = {2z*:2 € N, z* < 100}

° Watch Video Solution

10. (i) If n(A)=4, find n[P(A)]
(ii) If n(A)=0, find n[P(A)]

(iii) If n[P(A)]=256, find n (A)

° Watch Video Solution



https://dl.doubtnut.com/l/_8uZ3msFPD5Lt
https://dl.doubtnut.com/l/_GUvauyy8KNpW
https://dl.doubtnut.com/l/_aJdpqvwo08GH

1. If U={a,b,c.d,ef,g,h}, A={b,d f,h} and B={a,d,e,h}, find the following
(i) A

(ii) B'

(i) A" U B’

(ivyA'NB’

(v) (AU B)’

(vi) (AN B)’

(viii) (A7)’

(viii) (B")'

o Watch Video Solution

2.Let U ={0,1,2,3,4,5,6,7}, A={1,3,5,7} and B={0,2,3,5,7}, find the following
(i) A
(ii) B'

(i) A" U B’


https://dl.doubtnut.com/l/_jJnkHi7reZwn
https://dl.doubtnut.com/l/_2WKtxHhhpY8c

(ivyA' N B’
(v) (AU B)’
(vi) (AN B)’
(vii) (A7)’

(viii) (B')'

° Watch Video Solution

3. Find the symmetric difference between the follwing sets
(i) P={2,3,5,7,11} and Q={1,3,5,11}
(i) R={l,m,0,p} and S={j,|,n,q}

(iii) X={5,6,7} and Y={5,7,9,10}

° Watch Video Solution

4. Let A and B be two overlapping sets and the universal set U. Draw
appropriate Venn diagram for each of the following,
(i) AUB

(i AN B


https://dl.doubtnut.com/l/_2WKtxHhhpY8c
https://dl.doubtnut.com/l/_pWdP8wvCFknT
https://dl.doubtnut.com/l/_9KuTlBqdJkuH

(iii) (A N B)"
(iv) (B - A)
(v A’ UB’
(vi) A’ N B’

(vii) What do you observe from the diagram (iii) and (v)?

° Watch Video Solution

1.1f P={1,2,5,7,9}, 0={2,3,5,9,11}, R=(3,4,6,7,9} and S={2,3,4,5,8} then find

() (PUQ) UR) (i) (PN Q) NS i)y (QNS)NR

o Watch Video Solution

2. Test for the commutative property of union and intersection of the sets
P={x:xis a real number between 2 and 7} and

Q ={x:xis an irrational number between 2 and 7}

| oo ]


https://dl.doubtnut.com/l/_9KuTlBqdJkuH
https://dl.doubtnut.com/l/_EO4Yc3XocyZN
https://dl.doubtnut.com/l/_13g8oO36GbjB

I & Watch Video Solution ]

3.f A={p,q,r,s},B={m,n, q, s, t} and C ={m, n, p, q, s}, then verify the

associative property of union of sets.

o Watch Video Solution

4. Verify the associative property of intersection of sets for

A={-11,v2,5,7},B={/3,5,6,13} and C = {1/2,/3, /5, 9}

o Watch Video Solution

5. If
A={z:z=2",neWand n<4},B={z:z =2n,n € N and < 4}
and C={0, 1, 2, 5, 6}, then verify the associative property of intersection of

sets.

o Watch Video Solution



https://dl.doubtnut.com/l/_13g8oO36GbjB
https://dl.doubtnut.com/l/_bX8SPRyaajBW
https://dl.doubtnut.com/l/_rUOmfzYCStFd
https://dl.doubtnut.com/l/_l0bKu7VGhrLW

1. Using the adjacent venn diagram, find the following sets :

(i)A-B
(i)B-C
(i) A" U B’
(ivyA'NB’

v) (BUC)


https://dl.doubtnut.com/l/_l0bKu7VGhrLW
https://dl.doubtnut.com/l/_gn13Vnf4wXAB

(vi) A — (BUC)

(vii) A — (BN C)

° Watch Video Solution

2. If K={a,b,d, e f},L={b,c,d, g} and M = (a, b, ¢, d, h} then find the
following:

K U (L N M) and verify distributive laws.

° Watch Video Solution

3. For

A={z:ze€Z —2<z<4}B={r:zcW,z <5},C={—-4, —1,

° Watch Video Solution

4.Verify AU (BN C) = (AU B) N (AU Q) using Venn diagrams.



https://dl.doubtnut.com/l/_gn13Vnf4wXAB
https://dl.doubtnut.com/l/_0gCWKPu0kQn4
https://dl.doubtnut.com/l/_QMl5354KKE2A
https://dl.doubtnut.com/l/_2mHbjcCpX3Xy

| ° Watch Video Solution

5.fA={b,c,e,g,h},B={a,c,d,g, i} and C={a, d, e, g, h}, then show that

A—(BNC)=(A—B)U(4 - 0).

° Watch Video Solution

6. If
A={z:z=6n,neWand n<6},B={z:z=2n,ncNand 2<n

,then showthat A — (BNC)=(A—-—B)U(A - 0C)

° Watch Video Solution

7.1fA={2,0,1,3,5},B={1,0,2,5,6}and C ={-1, 2, 5, 6, 7}, then show that

A—(BUC)=(A—B)Nn(4-0).

° Watch Video Solution



https://dl.doubtnut.com/l/_2mHbjcCpX3Xy
https://dl.doubtnut.com/l/_uy9KwDwK8wOM
https://dl.doubtnut.com/l/_BGg96gch839y
https://dl.doubtnut.com/l/_kAedf6iPO7pe
https://dl.doubtnut.com/l/_yrjBulIkX3LE

8. If

2n — 1
2

1
A:{y:y:%,aEWanda§5},B:{y:y:

,nEW;

,then showthat A — (BUC) = (A—-B) N (4 - C).

° Watch Video Solution

9.Verify A — (BN C) = (A — B) U (A — C) using Venn diagrams.

° Watch Video Solution

10.1f U={4,7,8,10, 11,12, 15, 16}, A = {7, 8, 11, 12} and B = {4, 8, 12, 15}, then

verify De Morgan's Laws for complementation.

° Watch Video Solution

1. Verify (A N B)’ = A’ U B’ using Venn diagrams.

° Watch Video Solution



https://dl.doubtnut.com/l/_yrjBulIkX3LE
https://dl.doubtnut.com/l/_oCdRwCb4v0H3
https://dl.doubtnut.com/l/_28wmTrjSgUnm
https://dl.doubtnut.com/l/_pSR5q4rR1NT6

1. (i)f n(A)=25, n(B)=40,
n(A U B) =50 and n(B’) = 25, find n(A N B) and n(U).
(ii) If n(A) = 300, n(A U B) = 500, n(A N B) = 50 and n(B’) = 350,

find n(B) and n(U).

o Watch Video Solution

21fU ={z:z € N,z < 10},A={2,3,4,8,10} and B ={1, 2, 5, 8, 10}, then

verify that n(A U B) = n(A) + n(B) — n(A N B)

o Watch Video Solution

3. Verify
n(AUBUC) =n(A) +n(B)+n(C) —n(ANB) —n(BNC) —n(AN

for the following sets.


https://dl.doubtnut.com/l/_NXafn7jrcRfk
https://dl.doubtnut.com/l/_qBFegsASFJtt
https://dl.doubtnut.com/l/_c530WPCIY52e

(i) Ala,c,e,f,h},B={c,d,e,ffand C={a, b, , f}

(i) A={1,3,5} B={2,3,5,6}and C={1, 5, 6, 7}.

o Watch Video Solution

4. In a class, all students take part in either music or drama or both. 25
students take part in music, 30 students take part in drama and 8
students take part in both music and drama. Find

(i) The number of students who take part in only music.

(i) The number of students who take part in only drama.

(iii) The total number of students in the class.

o Watch Video Solution

5.In a party of 45 people, each one likes tea or coffee or both. 35 people
like tea and 20 people like coffee. Find the number of people who

(i) like both tea and coffee.

(ii) do not like tea.

(iii) do not like coffee.


https://dl.doubtnut.com/l/_c530WPCIY52e
https://dl.doubtnut.com/l/_sEK43yZo8Vcv
https://dl.doubtnut.com/l/_UF7wpBemZBDH

° Watch Video Solution

6. In an examination 50% of the students passed in Mathematics and 70%
of students passed in Science while 10% students failed in both subjects.
300 students passed in atleast one subjects. Find the total number of
students who appeared in the examination, if they took examination in

only two subjects.

° Watch Video Solution

7. A and B are two sets such that n(A - B) = 32 + x, n(B - A) = 5x and

n(A N B) = z. lllustrate the information by means of a venn diagram.


https://dl.doubtnut.com/l/_UF7wpBemZBDH
https://dl.doubtnut.com/l/_LK2NPVVrbToS
https://dl.doubtnut.com/l/_QxErK76staCb

Given that n(A) = n(B), calculate the value of x.

A B |

o Watch Video Solution

8. Out of 500 car owners investigated, 400 owned car A and 200 owned

car B, 50 owned both A and B cars. Is this data correct?

o Watch Video Solution

9. In a colony, 275 families buy Tamil newspaper, 150 families buy English
newspaper, 45 families buy Hindi newspaper, 125 families buy Tamil and

English newspapers, 17 families buy English and Hindi newspapers, 5


https://dl.doubtnut.com/l/_QxErK76staCb
https://dl.doubtnut.com/l/_rfjNvnlZJkZL
https://dl.doubtnut.com/l/_m2l8H62jQEpx

families buy Tamil and Hindi newspapers and 3 families buy all the three
newspapers. If each family buy atleast one of these newspapers then find
(i) Number of families buy only one newspaper

(ii) Number of families buy atleast two newspapers

(iii) Total number of families in the colony.

o Watch Video Solution

10. A survey of 1000 farmers found that 600 grew paddy, 350 grew ragi,
280 grew corn, 120 grew paddy and ragi, 100 grew ragi and corn, 80 grew
paddy and corn. If each farmer grew atleast any one of the above three,

then find the number of farmers who grew all the three.

o Watch Video Solution

1. In the adjacent diagram, if n(U) = 125, y is two times of x and z is 10

more than x, then find the value of x,y and z.


https://dl.doubtnut.com/l/_m2l8H62jQEpx
https://dl.doubtnut.com/l/_5qq67oWvoDZ7
https://dl.doubtnut.com/l/_0FgE8sR5EZju

° Watch Video Solution

12.1n a class of 50 students, each one come to school by bus or by bicycle
or on foot. 25 by bus, 20 by bicycle, 30 on foot and 10 students by all the
three. Now how many students come to school exactly by two modes of

transport?

° Watch Video Solution



https://dl.doubtnut.com/l/_0FgE8sR5EZju
https://dl.doubtnut.com/l/_PWUzYjmGtK1c

Exercise 17 Mcq

1. Which of the following is correct?
A {7} €{1,2,3,5,6,7,8,9, 10}
B.7-€{1,23,4,5,6,7,8,9, 10}
c7€{1,23,4,5,6,7,8,910}

D. {7}~ C {1,2,3,4,5,6,7,8,9, 10}

Answer: B

° Watch Video Solution

2.ThesetP={z |z €Z, —1<z <l1}isa

A.Singleton set
B. Power set

C. Null set


https://dl.doubtnut.com/l/_FdddE22n3YS2
https://dl.doubtnut.com/l/_SJS5cwyeuuBf

D. Subset

Answer: A

° Watch Video Solution

3.f U={z|zeN,z <10} and A={z |z € N,2 <z < 6} then
(A)" is

A. {1, 6,7,8,9}

B.{1,2,3,4}

C.{2,3,4,5}

D.{}

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SJS5cwyeuuBf
https://dl.doubtnut.com/l/_YjrCYhFU1ryE

4.1f BC A then n(A N B)is ...

A.n(A-B)
B. n(B)
C.n(B-A)

D. n(A)

Answer: B

o Watch Video Solution

5.1f A={x,y,z} then the number of non-empty subsets of A is

A.8

B.5

C.6

D.7


https://dl.doubtnut.com/l/_iMYHj74NYfHV
https://dl.doubtnut.com/l/_kchDPCuIeTbq

Answer: D

° Watch Video Solution

6. Which of the following is correct

A.¢ C {a, b}
B.¢ € {a, b}
C.{a} € {a, b}

D.{a} C {a, b}

Answer: A

° Watch Video Solution

7.1s W subset of N or Z?

AA+B


https://dl.doubtnut.com/l/_kchDPCuIeTbq
https://dl.doubtnut.com/l/_yy6xt6u2B4GD
https://dl.doubtnut.com/l/_ymRfpT3jlaIn

B. A=B

CACB

DBC A

Answer: B

o Watch Video Solution

8.fB-AisB,then AN Bis

A A

B.B

Cc.u

D. ¢

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ymRfpT3jlaIn
https://dl.doubtnut.com/l/_uQRomxS7WN24
https://dl.doubtnut.com/l/_8UzRknB4KbKu

9. From the adjacent diagram n[P(AAB)] is

A

10
50

65

A.8

B.16

C.32

D. 64

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8UzRknB4KbKu

10. If n(A) = 10 and n(B) = 15 then the minimum and maximum

number of elements in A N B is

A. (10,15)

B. (15,10)

C.(10,0)

D. (0,10)

Answer: D

° Watch Video Solution

1. Let A={@} and B =P(A) then A N B is

A {9, {¢}}
B. {#}
C.¢

D. {0}


https://dl.doubtnut.com/l/_q9hLK5vg8oC2
https://dl.doubtnut.com/l/_igHdFsrN32uX

Answer: B

° Watch Video Solution

12.1n a class of 50 boys, 35 boys play carom and 20 boys play chess then

the number of boys play both games is

A5

B.30

D.10

Answer: A

° Watch Video Solution

13. If

U={z:x € N and z < 10}, A = {1, 2,3,5,8} and B = {2,5,6,7,9},


https://dl.doubtnut.com/l/_igHdFsrN32uX
https://dl.doubtnut.com/l/_78N3wLVLvdF1
https://dl.doubtnut.com/l/_dITLG1Og95Kf

A1l

B.2

C.4

D.8

Answer: A

o Watch Video Solution

14.For any threesets P,Qand R,P — (Q N R) is
AP—-—(QUR)
B.(PNQ)—R
C(P-QU(P—-R)

D.(P— Q)N (P —R)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dITLG1Og95Kf
https://dl.doubtnut.com/l/_cdpvq5mxcbUB

15. Which of the following is true?

AA-B=ANB

BA-B=B-A

C(AUB) =A'UB’

D.(ANB) = A" UB’

Answer:

o Watch Video Solution

16. If
n(AUBUC) =100,n(A) = 4z, n(B) = 6x,n(C) = 5z, n(A N B) = 20
and n(A N BN C) = 10 then the value of x is .

A.10

B.15


https://dl.doubtnut.com/l/_cdpvq5mxcbUB
https://dl.doubtnut.com/l/_8PkNiQ8WjgaW
https://dl.doubtnut.com/l/_mfJCnmR2yNEh

C.25

D.30

Answer: B

o Watch Video Solution

17.For any three sets A,Band C, (A — B) N (B — C) is equal to

A.Aonly
B. B only

C.Conly

D. ¢

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_mfJCnmR2yNEh
https://dl.doubtnut.com/l/_6RWblGolCXeX

18.If ) = Set of three sided shapes, K = Set of shapes with two equal sides

and L = Set of shapes with right angle,then J N K N Lis

A. Set of isosceles triangles

B. Set of equilateral triangles

C. Set fo isosceles right triangles

D. Set of right angled triangles

Answer: C

o Watch Video Solution

19. The shaded region in the Venn diagram is

AZ—(XUY)
B.(XUY)NZ
C.Z-—(XNY)

D.ZU(XNY)


https://dl.doubtnut.com/l/_GwOdpGq1uTdT
https://dl.doubtnut.com/l/_gQWF1jRlAK5l

Answer:

° Watch Video Solution

20. In a city, 40% people like only one fruit, 35% people like only two
fruits, 20% people like all three fruits. How many percentage of people do
not like any one of the above three fruits?

A5

B.8

C.10

D.15

Answer: A

° Watch Video Solution

Text Book Activities



https://dl.doubtnut.com/l/_gQWF1jRlAK5l
https://dl.doubtnut.com/l/_QYsex8wOo8Cr
https://dl.doubtnut.com/l/_6VJiTUFpKrOX

1. Discuss and give as many examples of collections from your daily life

situations, which are sets and which are not sets.

° Watch Video Solution

2.  Write the following sets in respective forms.
S.No. Descriptive Form Set Builder Form Roster Form
1 The set of all natural numbers
less than 10
2 {x:xisamultipleof 3, x € N}
i 12:4,6,8,10}
4 The set of all days in a week,
5 o o {...=3-2,-1,0,1,23...18
o Watch Video Solution

3. Discuss with your friends and give examples of subsets of sets from

your daily situation.

o Watch Video Solution



https://dl.doubtnut.com/l/_6VJiTUFpKrOX
https://dl.doubtnut.com/l/_6bm9gs6eWdZt
https://dl.doubtnut.com/l/_y6lmR9lLeL06

4. Fill in the blanks with appropriate cardinal numbers.

0. | n(A) n(B) | mAUB) | a(ANB) | m(A-B) | n(B-A)

S.N
I 30 45 65
2 20 55 10
3 50 65 25
4 30 43 70

° Watch Video Solution

Additional Questions | Choose The Correct Option

1. A ={set of odd natural numbers}, B={sets of even natural numbers}, then

A and B are

A. equal set
B. equivalent sets
C. overlapping sets

D. disjoint sets


https://dl.doubtnut.com/l/_FYraEWb06bnu
https://dl.doubtnut.com/l/_IYaBr7kzrDkV

Answer: D

° Watch Video Solution

2.Number of subsets in set A={1,2,3} is ........

A3

B.6

C.8

D.9

Answer: C

° Watch Video Solution

3.The set does not have proper subset is

A. Finite set


https://dl.doubtnut.com/l/_IYaBr7kzrDkV
https://dl.doubtnut.com/l/_ue2etU6xrd98
https://dl.doubtnut.com/l/_SXO8L6ZWUiL0

B. Infinite set

C. Null set

D.Singleton set

Answer: C

° Watch Video Solution

4. Sets having the same number of elements are called.........

A. overlapping sets

B. disjoint sets

C. equivalent sets

D. equal sets

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SXO8L6ZWUiL0
https://dl.doubtnut.com/l/_GCsCePWPNqjj
https://dl.doubtnut.com/l/_gm9DXIN1eEXS

5.Theset (A — B) U (B — A) is v

AAAB
B.AUB
CANB

D.A'NB’

Answer: A

° Watch Video Solution

6.The set of (A U B) — (A N B) is ...

A (AUB)’
B.AA B
C.(AnB)’

D.A"UB’


https://dl.doubtnut.com/l/_gm9DXIN1eEXS
https://dl.doubtnut.com/l/_yV4tdlnIbOEv

Answer: B

° Watch Video Solution

7.Theset{z:z € A,z € B,z € AN B}is ...

AANB
B.AUB
C.A-B

D.AAB

Answer: D

° Watch Video Solution

8. The number of elements of the set {z:z € Z, 2° = 1} is ........

A.O


https://dl.doubtnut.com/l/_yV4tdlnIbOEv
https://dl.doubtnut.com/l/_LBl2QZL7hBA9
https://dl.doubtnut.com/l/_vOarxIw9SORp

B.1

C.2

D.3

Answer: C

o Watch Video Solution

9.If Ais a proper subset of B,then AN B = .......... .

A A

B.B

C.¢

D.AUB

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vOarxIw9SORp
https://dl.doubtnut.com/l/_SzRnXg0PYkn2
https://dl.doubtnut.com/l/_v9594tSHk0iy
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A A-B

B.B-A

CA

D.B'

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_v9594tSHk0iy
https://dl.doubtnut.com/l/_cj3WO6paAypW

1. From the given Venn digram (AU B)' is

A

A. {5,6}

B.{1,2,3,4,7}

C.{1,2,3,4,5,6,7}

D. {8,9}

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cj3WO6paAypW

12. If
n(AUBUC) =173,n(A) = 2z,n(B) = 3z,n(C) = 5z,n(A N B) = 10,
, then the value of x is ........

A9

B.10

C.5

D.18

Answer: B

° Watch Video Solution

13. For any three sets

n(AUBUC) =60,n(A) = 25,n(B) = 20,n(C) = 15,n(A N B) = 10,1

A.10


https://dl.doubtnut.com/l/_P0W7WZK3iTCS
https://dl.doubtnut.com/l/_UOCRob64eMqU

B.15

C.20

D. 25

Answer: C

° Watch Video Solution

14. If

n(U) = 70,n(A) = 25,n(B) = 30,n(ANB) =5, then n(AUB)’

A5

B.10

D. 20

Answer: D

[ - 1


https://dl.doubtnut.com/l/_UOCRob64eMqU
https://dl.doubtnut.com/l/_PbzTot1dqPWp

| @J Watch Video Solution

15. Which of the following is not correct?

AA—-(BuC)=(A-B)n(A-0)

B.A— (BNC)=(A—B)U(A-0)

C(AUB) = A’ UB’

D.A’UB’ = (A — B)’

Answer: D

° Watch Video Solution

Additional Questions li Answer The Following Questions

1. Write the following in "Roaster" form?
(a) A=set of the months having 31 days.

(b) B={x: x is a natural number of 2 digits divisible by 13}


https://dl.doubtnut.com/l/_PbzTot1dqPWp
https://dl.doubtnut.com/l/_p9bLHiHdfozz
https://dl.doubtnut.com/l/_l82dXbfbMoFl

(c) C={set of vowels in the word "father"}
(d)D ={z:5<z <10,z € N}

E={x : x is a square natural number less than 16}

° Watch Video Solution

2. Given that A={1,3,5,7}, B={1,2,4,6,8}. Find (i) A A B and (i1)B A A

° Watch Video Solution

3. From the venn -diagram, list the following
(i) A (ii) B
(i ANB(vyAUB

(v) A-B (vi) B-A


https://dl.doubtnut.com/l/_l82dXbfbMoFl
https://dl.doubtnut.com/l/_RLWct0niO7B8
https://dl.doubtnut.com/l/_6Uf7eXrUhEJS

(vii) (A— B)N (B — A)

()

e e —— |

o Watch Video Solution

4.1n a class there are 40 students, 26 have opted for Mathematics and 24
have opted Science. How many student have opted for Mathematics and

Science.

o Watch Video Solution



https://dl.doubtnut.com/l/_6Uf7eXrUhEJS
https://dl.doubtnut.com/l/_qpAbgjdLxTrn

5. If U={1,2,3,4,5,6,7,8,9}, A={4,5,7,9}, B={1,3,5,7,8}, Verify De Morgan's Law for

complementation.

o Watch Video Solution

Assignment | Fill In The Blanks

1.Ais a proper subset of B,then AU B = .........

° Watch Video Solution

2.If A C B, then A — Bis.........

° Watch Video Solution

3. Sets having atleast one element in common are called......

° Watch Video Solution



https://dl.doubtnut.com/l/_A2v2iedWhUDd
https://dl.doubtnut.com/l/_JfJAMBnnE3WH
https://dl.doubtnut.com/l/_hwLkg86331Qw
https://dl.doubtnut.com/l/_eCXVojP0u42j

4.1f n(A)=50, n(B)=35,n(A N B) = b5, thenn(A cup B) is equal to .......

° Watch Video Solution

5.1f A and B are two finite sets such that n(A-B)=30, n(A U B) = 180, n(A

cap B)=60, then n(B) is

° Watch Video Solution

Assignment li Choose The Correct Answer

1LIf PUQ = {5,11, 14,17, 19, 20}, P cap Q={14} and P={5,11,14,17} then

A. {17,19,20}

B. {14,17,19,20}


https://dl.doubtnut.com/l/_eCXVojP0u42j
https://dl.doubtnut.com/l/_3rzthHd3ff5y
https://dl.doubtnut.com/l/_IKsczzAanwAw
https://dl.doubtnut.com/l/_Fr0rBNdfYVMj

C. {5,14,17,19,20}

D. {14,19,20}

Answer: A::B::D

° Watch Video Solution

2.1f X,Y,Z are any three sets,thenY — (X U Z) = .........

AY —X)U(Y - 2)

B.(Y — X) N (Y — 2)

C(YUX) - (YUZ)

D.(Y —X)UZ

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_Fr0rBNdfYVMj
https://dl.doubtnut.com/l/_qxoTtptEsvZ5

3. If A={p,q,r;s}, B={r,s,t,u} and C={p,q,r}, then (A-B)-Cis ...

A {p,q}

B.{rs}

C.{t,u,r}

D. {t,u}

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_l7Ifu9sYVnBU

4. The shaded protion in the Venn diagram represents

’
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i

A (AUB)’
B.(ANB)’
CA'NB

D.(B—A)’

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_gtpv3SKFJVSk

5.For any three sets ABand C,(A — B)U (A — Q) is

AA—-(BUCQ)
B.(BNC)—-A
C(A-B)n(A-0)

D.A— (BnNCO)

Answer: A::B::C

° Watch Video Solution

Assignment lii Answer The Following Questions

1. In a class of 50 students, each of the students passed either in
mathematics or in a science or in both 10 students passed in both and 28

passed in science. Find how many students passed in mathematics only.

° Watch Video Solution



https://dl.doubtnut.com/l/_Su57cENf9qI5
https://dl.doubtnut.com/l/_RlWk33boPFmA

2. In a class there are 50 students who are offered either History,
geography or both. 35 were offered History and 10 were offered History

and geography both. How many students were offered Geography?

° Watch Video Solution

3. Represent U={1,2,3,4,5,6,7,8,9,10} A={1,2,4,6,8,10} and B={3,6,7,10} in venn-

diagram. Then find (i) (A U B)’ (ii) (AN B)’

° Watch Video Solution

4. If A={1,2,3} B={3,5,6} C={3,4,7}. Find (i) A — (BUQC) (ii) B A C (iii)

AAB

° Watch Video Solution



https://dl.doubtnut.com/l/_PTSdaIQXMj07
https://dl.doubtnut.com/l/_nlOLrHQfv8AH
https://dl.doubtnut.com/l/_Bx04x0FVovJg

5. Let
U={z: —3<z<4)A={1,2,3},b=4{0,1,2}C={—-3, —2, — 1, I(

Find (i) A’ U B’ (ii) (A N B)" (iii) (AN C)’

° Watch Video Solution

6. If A={a,b,cd}, B={ef.g,d} and C={ef,c,d} then verify that associative

property of intersection of sets.

° Watch Video Solution

7.1f A={2,3,5,7,9}, B={1,2,3,7,8} and C={2,3,6,8} find (A — B) U (4 — O)

° Watch Video Solution

8. If AB and C are overlapping sets then draw venn diagram for

(A-B)N(A—0)

| e |


https://dl.doubtnut.com/l/_NFIeDZMHczlC
https://dl.doubtnut.com/l/_UAEBRMexJJT4
https://dl.doubtnut.com/l/_RBHFLY1NRk8E
https://dl.doubtnut.com/l/_LMylNuPccaF8

| & Watch Video Solution I

9. If U={13,1516,1718,19,20}, A={13,15,17,20},  B={15,18,19,20},  verify

(AnB)'=A"UB’

° Watch Video Solution

10. Verify
n(AUBUC) =n(A) +n(B) +n(C) —n(ANB) —n(BNC) —n(AN

IF A={4,6,7,8,9,10}, B={3,4,8,10} and C={6,7,8,9}

° Watch Video Solution

11. Given A={-9,7,6,-3, 0,2}, B={-7,-3,0,4,5,6}, C={-9,-6,2,-7,8}, verify De Morgan's

Law of set difference.

° Watch Video Solution



https://dl.doubtnut.com/l/_LMylNuPccaF8
https://dl.doubtnut.com/l/_66epzRi4l25t
https://dl.doubtnut.com/l/_3I1loH3Sbb0G
https://dl.doubtnut.com/l/_hXGoaIohM6YI
https://dl.doubtnut.com/l/_QhqzP5nfHXqm

12. In a city it found that 100 play Cricket, 70 play Hockey, 60 play Basket
ball, 41 play Cricket and Hockey, 33 play Basket Ball and Hockey. 27 paly
Basket ball and Cricket. In total 140 play either one of these games. Find

the number of people who play all these three games.

o Watch Video Solution

13. If
A={a:ae€N,2<a<6},B={b:be N,b<10},C = {z:2> — Tz +

,then verifythat A — (BUC)=(A—-B)N (A - C)

o Watch Video Solution

14. Using the adjacent venn diagram, find the following sets
(A-B)-C(b) (BUC) — A

(c) A(BC) (d) (AU B)’ — C


https://dl.doubtnut.com/l/_QhqzP5nfHXqm
https://dl.doubtnut.com/l/_ZCg6Kixvv3wY
https://dl.doubtnut.com/l/_etHbZMAfoAyY

° Watch Video Solution

15.In a school of 4000 students, 2000 know French, 3000 know Tamil and
500 know Hindi, 1500 know French and Tamil, 300 know French and Hindi,
200 know Tamil and Hindi and 50 know all the three languages.

(i) How many of them do not know any of the three languages?

(ii) How many know atleast one language

(iii) How many know only two languages.

° Watch Video Solution



https://dl.doubtnut.com/l/_etHbZMAfoAyY
https://dl.doubtnut.com/l/_JCNiuIVnkxUa



https://dl.doubtnut.com/l/_JCNiuIVnkxUa

